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\ I.R. 90 WB

\ I.R. 90 EB

P.I. STA. 19.39.81

D  = 7%%d 38’ 04" (LT)

D

D

P.I. STA. 19+08.28

D  = 17%%d 28’ 27" (RT)

Dc = 4%%d 00’ 00"

R = 1,432.39’

T = 220.14’

L = 436.85’

E = 16.82’

P.I. STA. 26+75.95

D  = 13%%d 31’ 46" (LT)

Dc = 4%%d 00’ 00"

R = 1,432.39’

T = 169.91’

L = 338.23’

E = 10.04’

P.I. STA. 34+27.01

D  = 45%%d 29’ 48" (LT)

Dc = 9%%d 00’ 00"

R = 636.62’

T = 266.93’

L = 505.52’

E = 53.70’

P.I. STA. 41+31.80

D  = 41%%d 59’ 59" (RT)

Dc = 9%%d 00’ 00"

R = 636.62’

T = 244.37’

L = 466.66’

E = 45.29’

P.I. STA. 701+28.89

D  = 32%%d 36’ 08" (LT)

R = 440.74’

T = 128.89’

L = 250.79’

E = 18.46’

P.I. STA. 715+20.47

D  = 151%%d 04’ 52" (LT)

Dc = 17%%d 30’ 00"

T = 1,269.69’

P.I. STA. 711+93.56

Ls = 200.00’

f  s = 21%%d 15’ 00"

LT = 122.67’

ST = 79.46’

x = 196.73’

y = 28.80’

k = 99.54’

p = 3.99’

P.I. STA. 715+59.77

D  = 18%%d 16’ 07" (LT)

Dc = 3%%d 45’ 00"

R = 1,527.89’

T = 245.67’

L = 487.16’

E = 19.62’

P.I. STA. 718+67.96

Ls = 200.00’

f  s = 3%%d 45’ 00"

LT = 133.36’

ST = 66.69’

x = 199.91’

y = 4.36’

k = 99.99’

p = 1.09’

P.I. STA. 901+97.23

D  = 90%%d 01’ 06" (RT)

Dc = 49%%d 49’ 21"

R = 115.00’

T = 115.04’

L = 180.68’

E = 47.66’

P.I. STA. 903+10.93

D  = 42%%d 03’ 54" (RT)

Dc = 45%%d 50’ 12"

R = 125.00’

T = 48.06’

L = 91.77’

E = 8.92’

P.I. STA. 904+25.66

Ls = 200.00’

f  s = 45%%d 50’ 12"

LT = 138.10’

ST = 71.02’

x = 187.57’

y = 50.94’

k = 97.90’

p = 13.03’

D

T = 149.40’

L = 291.32’

E = 20.54’

P.I. STA. 804+98.62

D  = 11%%d 21’ 51" (RT)

Dc = 2%%d 45’ 00"

R = 2,083.48’

T = 207.30’

L = 413.24’

E = 10.24’

P.I. STA. 811+83.78

D  = 35%%d 54’ 53" (LT)

Dc = 16%%d 00’ 00"

R = 358.10’

T = 116.06’

L = 224.47’

E = 18.34’

P.I. STA. 402+79.59

D  = 8%%d 22’ 22" (RT)

Dc = 1%%d 30’ 00"

R = 3,819.72’

T = 279.59’

L = 558.19’

E = 10.22’

RAMP G6

SOUTH MARGINAL

P.I. STA. 17+25.00

D  = 90%%d 00’ 00" (RT)

Dc = 21%%d 30’ 00"

R = 266.49’

T = 266.49’

L = 418.60’

E = 110.38’

V   = 30 MPH
DES

(MAX)
e   = 0.059

AIRPORT ACCESS 

ROAD

P.I. STA. 38+08.28

D

Dc = 6%%d 15’ 00"

T = 582.99’

P.I. STA. 47+73.74

D  = 38%%d 23’ 37" (RT)

Dc = 5%%d 20’ 00"

T = 374.04’

L = 719.88’

E = 63.25’

D  = 9%%d 25’ 44" (LT)

Dc = 1%%d 30’ 00"

R = 3,819.72’

T = 315.00’

L = 628.58’

E = 12.97’

V   = 50 MPH
DES

(MAX)
e   = 0.028

V   = 30 MPH
DES

(MAX)

V   = 40 MPH
DES

(MAX)

V   = 30 MPH
DES

(MAX)

V   = 30 MPH
DES

(MAX)

(MAX)

V   = 35 MPH
DES

(MAX)
e   = 0.060

V   = 40 MPH
DES

(MAX)
e   = 0.032

V   = 40 MPH
DES

(MAX)
e   = 0.060

V   = 30 MPH
DES

(MAX)
e   = 0.057

V   = 45 MPH
DES

(MAX)
e   = 0.045

V   = 35 MPH
DES

(MAX)
e   = 0.058

V   = 20 MPH
DES

(MAX)
e   = 0.057

V   = 20 MPH
DES

(MAX)
e   = 0.055

e   = NC

e   = NC

e   = NC

e   = NC

V   = 40 MPH
DES

(MAX)
e   = NC

V   = 40 MPH
DES

(MAX)
e   = NC

V   = 40 MPH
DES

e   = NC

V   = 40 MPH
DES

(MAX)
e   = NC

V   = 40 MPH
DES

(MAX)

V   = 40 MPH
DES

(MAX)

P.I. STA. 411+30.51

D  = 18%%d 55’ 40" (LT)

T = 159.18’

L = 315.46’

E = 13.18’

V   = 50 MPH
DES

(MAX)
e   = 0.059

Dc = 6%%d 00’ 00"

R = 954.93’

P.I. STA. 408+64.98

Ls = 320.00’

f  s = 9%%d 36’ 00"

LT = 213.65’

ST = 106.95’

x = 319.10’

y = 17.84’

p = 4.46’

k = 159.85’

P.I. STA. 413+93.74

Ls = 320.00’

f  s = 9%%d 36’ 00"

LT = 213.65’

ST = 106.95’

x = 319.10’

y = 17.84’

p = 4.46’

k = 159.85’

P.I. STA. 421+17.73

D  = 27%%d 54’ 40" (RT)

Dc = 6%%d 45’ 00"

R = 848.83’

V   = 50 MPH
DES

(MAX)
e   = 0.060

T = 210.94’

L = 413.50’

E = 25.82’

P.I. STA. 418+07.12

Ls = 300.00’

f

LT = 200.33’

ST = 100.30’

x = 299.06’

p = 4.41’

k = 149.84’

  s = 10%%d 07’ 30"

y = 17.632’

P.I. STA. 424+20.59

Ls = 300.00’

f

LT = 200.33’

ST = 100.30’

x = 299.06’

p = 4.41’

k = 149.84’

  s = 10%%d 07’ 30"

y = 17.632’

Dc = 13%%d 00’ 00"

R = 327.40’

L = 863.32’

E = 983.82’

R = 532.98’

Dc = 10%%d 45’ 00"

  = 31%%d 19’ 01" (RT)

P.I. STA. 801+49.40

  = 64%%d 54’ 30" (LT)

R = 916.73’

L = 1,038.53’

E = 169.67’

R = 1,074.30’

P.I. STA. 56+24.63

P.I. STA. 36+33.78

  = 38%%d 23’ 37" (RT)

Dc = 5%%d 15’ 00"

R = 1,091.35’

T = 379.98’

L = 731.31’

E = 64.26’

P.I. STA. 45+05.08

  = 12%%d 49’ 03" (LT)

Dc = 2%%d 00’ 00"

R = 2,864.79’

T = 321.78’

L = 640.88’

E = 18.01’

D

V   = 25 MPH
DES

(MAX)

  = 39%%d 35’ 43" (LT)

Dc = 16%%d 30’ 00"

R = 347.25’

e   = NC

NORTH MARGINAL

P.C. STA. 400+00.00

P.T. STA. 405+58.19

S.C. STA. 409+71.33

C.S. STA. 412+86.79

S.C. STA. 419+06.79

C.S. STA. 423+20.29

P.C. STA. 700+00.00

C.S. STA. 711+14.11

S.C. STA. 713+14.11

C.S. STA. 718+01.27

P.C. STA. 800+00.00

P.T. STA. 807+04.56

P.C. STA. 810+67.72

P.T. STA. 812+92.19

P.C. STA. 32+25.29

P.T. STA. 42+63.82

P.C. STA. 43+99.70

P.T. STA. 51+19.58

P.C. STA. 53+09.63

P.T. STA. 59+38.22

P.C. STA. 16+88.14

P.T. STA. 21+24.99

P.C. STA. 25+06.04

P.T. STA. 28+44.28

P.C. STA. 31+60.07

P.T. STA. 36+65.59

P.C. STA. 38+87.42

P.T. STA. 43+54.09

P.C. STA. 19+05.05

P.T. STA. 19+74.46

P.C. STA. 32+53.80

P.T. STA. 39+85.11

P.C. STA. 41+83.30

P.T. STA. 48+24.17

D

L = 194.89’

E = 6.26’

V   = 30 MPH
DES

(MAX)

R = 763.94’

Dc = 7%%d 30’ 00"

  = 14%%d 37’ 01" (RT)

P.I. STA. 16+71.25

T = 97.98’

P.C. STA. 15+73.28

P.T. STA. 17+68.17

P.C. STA. 12+77.55

P.T. STA. 15+17.52

P.C. STA. 14+58.51

P.T. STA. 18+77.11

P.C. STA. 900+82.19

P.T. STA. 902+62.87

P.C. STA. 902+62.87

C.S. STA. 903+54.64

P.I. STA. 14+02.55

T = 125.00’

L = 239.97’

E = 21.81’

CONTRACT GROUP 4

PLAN SHEET 2

NORTH MARGINAL ROAD

I.R. 90 EB

I.R. 90 WB
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V   = 50 MPH
DES

(MAX)

D  = 5%%d 18’ 47" (RT)

Dc = 0%%d 47’ 00"

R = 7,314.35’

T = 339.37’

L = 678.26’

E = 7.87’

P.I. STA. 559+24.91

e   = NC

WIDENING = N/A

P.C. STA. 555+85.54

P.T. STA. 562+63.80

P.I. STA. 605+49.05

D  = 46%%d 39’ 16" (LT)

Dc = 9%%d 00’ 00"

R = 636.62’

T = 267.97’

L = 507.27’

E = 54.10’

P.I. STA. 612+37.66

D  = 31%%d 00’ 31" (RT)

Dc = 9%%d 00’ 00"

R = 636.62’

D  c = 31%%d 00’ 31" (RT)

Lc = 340.35’

Es = 24.04’

P.I. STA. 614+75.97

Ls = 200.00’

f

  s = 9%%d 30’ 07"

LT = 130.01’

ST = 70.37’

x = 199.42’

y = 11.62’

k = 99.91’

p = 2.47’

P.I. STA. 502+04.65

D  = 24%%d 11’ 30" (RT)

Dc = 6%%d 00’ 00"

R = 954.93’

T = 204.65’

L = 403.20’

E = 21.68’

P.I. STA. 505+29.84

Ls = 200.00’

f  s = 38%%d 30’ 00"

LT = 126.65’

ST = 80.48’

x = 189.64’

y = 50.10’

k = 98.51’

p = 7.63’

P.I. STA. 513+80.03

D

Dc = 3%%d 49’ 12"

R = 1499.89’

DES

(MAX)

V   = 55 MPH
DES

(MAX)
e   = 0.056

V   = 45 MPH
DES

(MAX)
e   = 0.060

V   = 45 MPH
DES

(MAX)
e   = 0.060

e   = 0.059

V   = 50 MPH

P.C. STA. 500+00.00

C.S. STA. 504+03.20

P.C. STA. 513+72.46

P.T. STA. 513+87.60

P.C. STA. 602+81.08

P.T. STA. 607+88.35

WIDENING = 2’/LANE

DES

WIDENING = N/A

WIDENING = N/A

P.I. STA. 514+02.48

D

Dc = 32%%d 30’ 00"

R = 176.29’

T = 799.28’

L = 477.30’

E = 642.20’

V   = 25 MPH
DES

(MAX)
e   = 0.059

  = 155%%d 07’ 24" (RT)

S.C. STA. 506+03.20

P.T. STA. 510+80.50

WIDENING = N/A

  = 0%%d 34’ 41" (RT)

T = 7.57’

L = 15.14’

E = 0.02’

WIDENING = 2’/LANE WIDENING = N/A

WIDENING = 1.5’/LANE

WIDENING = 1.875’/LANE

e   = NC

P.C.C. STA. 702+50.79

WIDENING = N/A

P.C.C. STA. 702+50.79

WIDENING = N/A

WIDENING = N/A

P.C.C. STA. 802+91.32

WIDENING = N/A

P.C.C. STA. 802+91.32

WIDENING = N/A

WIDENING = N/A

WIDENING = N/A

WIDENING = N/A

WIDENING = 2’/LANE

WIDENING = 2’/LANE

SOUTH MARGINAL

CONTINUED

WIDENING = N/A

AIRPORT ACCESS 

ROAD CONTINUED

P.I. STA. 26+82.75

D  = 64%%d 54’ 30" (LT)

V   = 30 MPH
DES

(MAX)
e   = NC

Dc = 6%%d 30’ 00"

R = 881.47’

T = 560.57’

L = 998.59’

E = 163.15’

P.C. STA. 21+22.18

P.T. STA. 31+20.77

Dc = 11%%d 00’ 00"

R = 520.87’

T = 34.75’

L = 69.40’

E = 1.16’

WIDENING = N/A

P.I. STA. 29+75.93

D

Dc = 7%%d 30’ 00"

V   = 40 MPH
DES

(MAX)
e   = NC

  = 8%%d 55’ 21" (LT)

R = 763.94’

P.C. STA. 29+16.33

P.T. STA. 30+35.30

WIDENING = N/A

T = 59.60’

L = 118.96’

E = 2.32’

WIDENING = 1.75’/LANE

WIDENING = 1.313’/LANE

WIDENING = 1.083’/LANE

EAST 38TH

STREET

CSX RAILROAD

V   = 60 MPH
DES

(MAX)

P.I. STA. 273+10.70

P.I. STA. 262+85.88

D  = 8%%d 38’ 07" (RT)

Dc = 0%%d 32’ 45"

R = 10,496.94’

T = 792.51’

L = 1,582.03’

E = 29.87’

e   = NC

P.I. STA. 251+65.88

D  = 6%%d 33’ 24" (LT)

Dc = 1%%d 00’ 00"

R = 5,729.58’

T = 328.20’

L = 655.68’

E = 9.39’

V   = 60 MPH
DES

(MAX)
e   = 0.027

WIDENING = N/A

WIDENING = N/A

P.I. STA. 297+93.48

D  = 1%%d 02’ 30" (LT)

Dc = 0%%d 30’ 00"

R = 11,459.16’

T = 104.17’

L = 208.33’

E = 0.47’

V   = 60 MPH
DES

(MAX)
e   = NC

P.I. STA. 288+84.65

Ls = 375.00’

f  s = 7%%d 30’ 00"

LT = 250.22’

ST = 125.20’

x = 374.36’

y = 16.34’

k = 187.39’

p = 4.09’

WIDENING = N/A

P.C. STA. 248+37.68

C.S. STA. 270+75.39

P.C. STA. 296+89.32

P.T. STA. 298+97.64

P.C.C. STA. 254+93.36

P.C.C. STA. 254+93.36

DES

e   = 0.060
(MAX)

P.I. STA. 281+54.63

D  = 52%%d 21’ 44" (RT)

Dc = 4%%d 00’ 00"

R = 1,432.39’

T = 704.24’

L = 1,309.05’

E = 163.76’

Ls = 375.00’

f  s = 8%%d 31’ 24"

LT = 235.31’

ST = 140.30’

x = 374.06’

y = 20.79’

k = 187.36’

p = 3.53’

V   = 60 MPH

WIDENING = 1’/LANE

S.C. STA. 274+50.39

C.S. STA. 287+59.44

V   = 60 MPH
DES

(MAX)

DES

e   = 0.060
(MAX)

P.I. STA. 287+07.31

Ls = 375.00’

f  s = 7%%d 39’ 23"

LT = 250.23’

ST = 125.21’

x = 374.33’

y = 16.68’

k = 187.39’

p = 4.17’

P.I. STA. 280+12.47

D  = 49%%d 56’ 31" (RT)

Dc = 4%%d 05’ 00"

R = 1,403.16’

T = 653.44’

L = 1,223.07’

E = 144.69’

P.I. STA. 272+19.52

Ls = 375.00’

f  s = 8%%d 41’ 15"

LT = 235.49’

ST = 140.14’

x = 374.03’

y = 21.17’

k = 187.36’

p = 3.61’

P.I. STA. 262+11.08

D  = 8%%d 31’ 06" (RT)

Dc = 0%%d 33’ 00"

R = 10,417.41’

T = 775.81’

L = 1,548.76’

E = 28.85’

e   = NC

P.I. STA. 251+15.79

D  = 6%%d 23’ 46" (LT)

Dc = 1%%d 00’ 00"

R = 5,729.58’

T = 320.14’

L = 639.62’

E = 8.94’

V   = 60 MPH
DES

(MAX)
e   = 0.027

V   = 60 MPH

WIDENING = 1’/LANE

WIDENING = N/A

WIDENING = N/A

P.C. STA. 247+95.65

C.S. STA. 269+84.03

S.C. STA. 273+59.03

C.S. STA. 285+82.09

P.C.C. STA. 254+35.26

P.C.C. STA. 254+35.26

P.I. STA. 59+27.81

D  = 11%%d 58’ 15" (RT)

Dc = 2%%d 00’ 00"

R = 2,864.79’

T = 300.36’

L = 598.54’

E = 15.70’

P.I. STA. 71+72.15

D  = 20%%d 06’ 18" (RT)

Dc = 3%%d 45’ 00"

R = 1,527.89’

T = 270.85’

L = 536.13’

E = 23.82’

P.I. STA. 81+39.98

D  = 3%%d 05’ 35" (LT)

Dc = 0%%d 39’ 00"

R = 8,814.74’

T = 237.99’

L = 475.87’

E = 3.21’

P.I. STA. 87+57.41

D  = 13%%d 31’ 46" (LT)

Dc = 3%%d 45’ 00"

R = 1,527.89’

T = 181.23’

L = 360.78’

E = 10.71’

V   = 60 MPH
DES

(MAX)
e   = NC

P.I. STA. 296+19.61

D  = 1%%d 00’ 53" (RT)

Dc = 0%%d 30’ 00"

R = 11,459.16’

T = 101.48’

L = 202.95’

E = 0.45’

WIDENING = N/A

(MAX)

(MAX)

(MAX)

DESV   = 55 MPH

V   = 55 MPHDES

V   = 55 MPHDES

e   = 0.056

e   = 0.056

WIDENING = N/A

P.C. STA. 295+18.13

P.T. STA. 297+21.08

P.C. STA. 56+27.45

P.T. STA. 62+25.99

P.C. STA. 69+01.30

P.T. STA. 74+37.43

WIDENING = N/A

P.C. STA. 79+01.99

P.T. STA. 83+77.86

P.C. STA. 85+76.17

P.T. STA. 89+36.96

e   = NC

V   = 60 MPH
DES

(MAX)

V   = 50 MPH
DES

(MAX)

P.I. STA. 1301+23.91

D  = 1%%d 14’ 20" (RT)

Dc = 0%%d 30’ 00"

R = 11,459.16’

T = 123.91’

L = 247.80’

E = 0.67’

e   = NC

e   = NC

WIDENING = N/A

WIDENING = N/A

P.C. STA. 1300+00.00

P.T. STA. 1302+47.80

P.T. STA. 1313+71.61

(MAX)

P.I. STA. 1508+49.77

D

Dc = 70%%d 44’ 08"

T = 548.90’

L = 230.73’

P.C. STA. 1503+00.87

P.T. STA. 1505+31.60

  = 163%%d 12’ 40" (RT)

R = 81.00’

E = 473.84’

e   = 0.060

V   = 20 MPH
DES

WIDENING = N/A

P.I. STA. 1309+83.51

D  = 5%%d 10’ 41" (LT)

Dc = 0%%d 40’ 00"

R = 8,594.37’

T = 388.63’

L = 776.73’

E = 8.78’

P.C. STA. 1305+94.88

P.C. STA. 399+90.15

V   = 60 MPH
DES

(MAX)
e   = NC

WIDENING = N/A

V   = 50 MPH
DES

(MAX)

WIDENING = N/A

e   = 0.047

P.T. STA. 409+60.64

P.R.C. STA. 403+90.70

P.R.C. STA. 403+90.70

P.C. STA. 411+30.64

P.T. STA. 415+04.20

APRIL 1, 2010

\ NORTH MARGINAL RD.

\ SOUTH MARGINAL RD.

\ KING AVE.

NORTH MARGINAL
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e   = 0.016

e   = 0.016

P.C. STA. 610+61.06

C.S. STA. 614+05.60

WIDENING = N/A

V   = 45 MPH
DES

(MAX)

WIDENING = N/A

e   = 0.055

WIDENING = 4’/LANE

WIDENING = 1.125’/LANE WIDENING = 2’/LANE

N 54%%d 42’ 34" E

N 57%%d 12’ 04" E

N 54%%d 43’ 25" E

N 54%%d 43’ 25" E

N 54%%d 43’ 25" E
300 305

300 305

RAMP F3

RAMP F4

RAMP G5

MUNICIPAL LOT 

ROADWAY

RAMP C5 RAMP E1 RAMP E2 RAMP G6

CONTINUED

RAMP G5

CONTINUED

RAMP F4

CONTINUED

RAMP F3

CONTINUED

EAST 30TH

STREET

I.R. 90 WESTBOUND I.R. 90 EASTBOUND

STATE ROUTE 2RAMP D1

RAMP D2

D

RAMP D3

P.I. STA. 401+90.45

  = 2%%d 10’ 53" (LT)

Dc = 0%%d 32’ 41"

R = 10,520.94’

T = 200.30’

L = 400.55’

E = 1.91’

P.I. STA. 406+78.18

D  = 18%%d 31’ 23" (RT)

Dc = 3%%d 15’ 00"

R = 1,762.95’

T = 287.48’

L = 569.94’

E = 23.29’

P.I. STA. 413+19.84

D  = 22%%d 24’ 48" (LT)

Dc = 6%%d 00’ 00"

R = 954.93’

T = 189.20’

L = 373.55’

E = 18.56’

310 315 320

STATE ROUTE 2

(CONTINUED)


